4Q & A

Monster Buggy (Gas) Parts List

Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars.

6068
6067
6069

1926
1726
6010
1834
6015
6048
1815
2514
9950
6014
6012

6034
6035
6033

6036

6070
6037
6073
6080
6090

6074
6020

6019X Differential gears, hardened

6019
1647

6056

6072

6046
6051
6078
6044
6045
6050
6075
6076

6049
6047
6053
6041
6042
6040
6043

6148

6133
6075
6135
6076

6125
6126
3173
2574
3174

Bearings & Bushings

Ball bearings (15x32x9mm) (2) ...
Ball bearings (8x22x7mm) (6)
Thrust bearing assembly ..........

Body & Accessories

Antenna caps, vinyl (2)/ antenna spool
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1)................
Body and cage top
Body clips (12) (standard size)
Body clips (Monster Buggy, 1/5 scale) (6)
Body posts/ aluminum mounting brackets/ 3x8 ST (8)........cccccevueuee.
Body washers (8)
Decal sheet, racing sponsors ...
Official Team Traxxas racing decal set (flag logo/ 6-color)...............
Roll cage

Brake Components
Brake cross shaft/ 3X8 CS/ wire
Brake disc
Brake hexagonal driver/ 5X6 GS (1)
Brake pads (1-pair)/ 3x14 WM (2)/ sleeves (2) ...

Chassis & Attachments

Aluminum chassis/ cover plate/ gasket $125.00
Antenna holder $3.00
Battery hold-down plate $6.00
Chassis support rods (2) $12.00

Front bumper . $12.00

Radio tra

Differential Components

Diff yokes (2) w/ set (set screws
Differential gearbox

Differential, complete
Silicone

Driveline Components

Dog bone style driveshafts (2

Exhaust pipe/ fastener ring

6150 Performance-tuned exhaust system $125.00
Front Suspension & Steering

Aluminum hex wheel hubs (2)/ 5X6 GS (2)......ccceeiieiieiieieieeeeene $8.00
Aluminum mounting posts (2)......c.cccccereenen $12.00
Anti-sway bars (front & rear) w/ hardware .. $24.00
Axle housings/ screws (front)/ 4x26 CS (4)/ 4. O MW (4) $9.00
Axle shafts (front)/ E-clips $8.00
Bellcrank shafts (2)/ E-clips (4). $24.00
Hollow ball connectors (6-black, 2-silver)..........c.cccceeieiiieiieiieenee. $12.00
Plastic rod ends (8) (1/6 and 1/5 scale)/ hollow ball

connectors (8) (6-black, 2-SilVer) ..........ccoooiiiiiiiieeee $12.00

Servo saver set (1/6, 1/5 scale)/ bellcranks/ draglink/ bushings .
Shock tower (front)
Shocks (front) (2) assembled....
Suspension arms (lower) (front)/ 5x6 GS (2)
Suspension arms (upper) (front)/...............
Suspension mount (front)
Upper camber rods (2) (front

Fuel Tank & Line

Fuel tank and cap (Monster Bugg

E-clip set for Monster Buggy
Hollow ball connectors (6-black, 2-silver)..
Nuts, 4mm flanged (10) .....
Plastic rod ends (8) (1/6 and 1/5 scale)/ hollow ball
connectors (8) (6-black, 2-silver)
Screws, 4x12mm cap-head machine (6)
Screws, 4x36mm cap-head machine (6)
Screws, 4x6mm countersunk machine (6)
Screws, 5x15mm roundhead machine (6).
Screws, 5x20mm countersunk machine (6)

For assistance call 1-888-TRAXXAS, or e-mail Traxxas anytime at support@Traxxas.com

2683
6134
6142

6143

6031
6132

6078
6060
6054
6059
6058
6055
6061
6057

6099
6096T

6098T

6096
6098
6097
6053
6054

2514
9950

6064
6081
6082
6083
6063
6066

6024
6028
6039
6023
6021
6018
6017
6022
6032
6077

6027
6026
6025
6029
6030

Screws, 5x20mm roundhead self-tapping (6)...
Set (grub) screws, 5x6mm (6)
Shoulder Screws, 4x25mm cap-head machine (6) (W|th 5mm

shoulder for Monster Buggy) «.....ccoveeueaienieriereeeeeeeee e
Shoulder Screws, 4x30mm cap-head machine (6) (with 5mm

shoulder for Monster Buggy)
Spacers, aluminum, 5x9x4mm (2)...
Spacers, plastic, 5x10x2 (Monster Buggy front arms

Anti-sway bars (front & rear) w/ hardware ...
Shock tower (rear)
Shocks complete (2) (rear)....
Stub axle carriers (2) (rear).
Stub axles (2) (rear)
Suspension arms (lower) (rear)
Suspension pin set..........cccceeeenees
Tie rods (2)/ camber links (rear) (2).

Shock rebuild kit (for 2 ShOCKS) ......ccveeieiieiiiiieeeeeeee e $5.00
Shock shafts, hardened steel, titanium nitride
coated (front) (2) $17.00

Shock shafts, hardened steel, titanium nitride
coated (rear) (2)
Shock shafts, steel, chrome finish (front) (2)....
Shock shafts, steel, chrome finish (rear) (2)
Shock spring pre-load spacer set (for 2 shocks)
Shocks (front) (2) assembled
Shocks complete (2) (rear)

Team Traxxas ltems
Decal sheet, racing sponsors
Official Team Traxxas racing decal set (flag logo/ 6-color)..
Traxxas racing banner, red & black (3x7 feet

Tires & Wheels

Foam tire inserts (front & rear) (4) ......cccooeieeneenieieeeee s $12.00
Nuts, 6mm nylon locking (wheel nuts 1/6 and 1/5 scale) (5) ............ $2.50
Slick tires (2) (front) $40.00
Slick tires (2) (rear) $40.00

Tires (2) (front)
Tires (2) (rear)
Wheels (2) (front) 125x45mm
Wheels (2

Transmission Components

Aluminum side cover plate...........ooeeiiiiiiieiecee e
Belleville washers (complete set w/ nut)
Clutch bell/ 8x10x12AS
Gear cover
Gear plate
Gear, 15-tooth hardened steel/ 5x6 GS (1)
Gear, 17-tooth/ 5x6 GS (1)
Outer spur gearbox
Screw sleeves (4)
Screws, 6x60mm roundhead machine screws (4)/ 6.0 SW (4)/
6x13x1 MW (4)
Slipper pressure disc ...
Slipper pressure plates

Spur/ diff gear, 44-t00th ..........cccoeiiiieiieiieeee e $8.00
Spur/ diff gear, 46-tooth $8.00
Top & idler gear Shafts...........ccooieeieieeeeeeeeeee e $7.50

If you have questions or need technical assistance, call Traxxas at:

1-888-TRAXXAS

(1-888-872-9927) (U.S. residents only)

For orders, calls outside the U.S., and other information,
call 972-265-8000, or fax to 972-265-8011
E-mail Traxxas at support@Traxxas.com

www. Traxxas.com

REV. 070601 1133



Page 2 Monster Buggy (Gas) Parts List

REV. 070601 1133



